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[APHA] 250C @250C Tg
o ps] | [dyne] | [
[Gardner]
2
SR256 2-(2-IhFLIhFI)TFLTYIL—b HoC=C—C—0~CH,"CHy O~ CHy"CHp O—CH,"CH; 1 70 1.4366 6 324 54 KSR RIGHERIRA
H
SR257 |RFFYLTFTIIL—k Hzc:CI:—Icli—O—(CHZ)H'CHg 1 250 1.4476 - - 35 BUKMEETY
H
SR285 FhSERFATILIYLTHIL—F Hzc:(ll—g—O—CHZO 1 80 1.4577 6 36.1 -15 |15
o]
H
0
SR335 |S5IULTIIL—) HoC=C—C~O—(CHy)y CHy 1 30 1.4416 6 30.3 -30 RIEEFMEKE
H
0
SR339A [2-7z/FYIFILTHYL—b HZC:C—C—O—CHZ-CHZ-o© 1 30 1.516 12 39.2 5 {EERM
I
i
SR395 AVYFVILTHIL—F H,C=C~C~0—(i50-C1oHz) 1 40 14395 5 28.6 -60 {ETg
H
SR440 AYFIFLTIIL—F Hzc:(l:—g—o—(iso-chn) 1 25 1.4346 5 28 54 BRIGMHEETg
H
SR489D rYTFTIATIIL—K H2c=C|:—ICIZ—O—(CH2)12~CH3 1 50 1.4474 7 28.9 -55 {ETg
H
SHke — e O CH-CHA-O—b— ol - ) EERM, ERSR
SR495 |AFBRSUTHIL—F HZC_E C—0—CH,-CH,-0—C—(CHyp)s~O—C—(CH,)s~OH 30 1.4637 80 42.9 53 AFF A
o
- _ el CH.- RIBFME, BRS
SR504 IhxiAL/ZLTIZLTHYL—h H,C=C—C O<CH2 CH, o>—@cgmg 70 1.4936 100 335 - ;
= . R R SRS
(e}
SR506 AVAR=LTIYL—F Hzo:ﬁ:f&o% 20 1.4738 9 31.7 88 &Tg AUIY—HMHA
H
i
CD614 7iaxiie/=LIz=)LT7Ho)L—bk HZC=$—C—0<CH2'CH2'0>—Q09H19 100 1.4883 129 — — BERME.ERER
H n
@
CD9087 7ILaFxiib2-7z/FIFITHIL—b H2C=|C_C_O<CH2'CH2'O>_© 50 1.5038 | 24 385 | -235 EERLENMEREREL
H n
HEREASYL—t
@
SR203 FhSERATILIYLAZSYL—K H2c=<|:—c—o—CHZQ 65 1.4553 5 34.6 — BEREEEEMS
CHg
SR242 4‘/7_::/”/}97U L/_I“ Hzc:(\:iéiof((:”z)n'c“s 40 1.4414 5 29.4 - 1&1—9
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[APOTA] Eir#= | 25°C | @25°C
[Gardner] [cps] | [dyne]
SR313 37U AR)L— H2c=<|:—('§—o—(iso-c10H21) 1 30 1442 . . s e
CHg
T
SR324 ARTFTTYILAZRO)L—k HzC=‘,3_C—0—(CHz)17'CH3 1 75 1 4485 u ~ .
CHs
K
SR340 272/ FYTFNAGTIL—E H2C=‘E‘C—O—CH2-CH2-0—< > 1 40 15109 | 10 38.2 54 |BUKMSETY
CHs
o
SRazs [N H2c=c—3—o;% 1 20 1.474 11 30.7 110 &Tg
CHs
0
SR493D [RUFLILAEHYL—k H,c=C—E=0—(CHa)yz CHy L %0 P s N —
CH3
cpssg  AHFYRUIFLLLT)a—)L(350) Hzc=C—|(|:—O CH,~CH,~ O CH,~CH,"O—CHg 20 1.4566 = 19 - -62 EEELMEFNE, KBS
E/AZYIL—K ¢
3 6
v >y7)a— I
CD552 ARFLRYIFLS1)a—IL(550) H,C=C—C—Of CH,-CH,-OF CH,-CH,-O—CHj 20 Labil . B P
E/ARDYL—b éH3
11
? GHs GHa
SRE04 [RUTREL>TYI—NE/ XTI~ HzC=‘F_C_O<CH2-CH—°>CH2-CH—0H 40 1.4464 35 333 — KB R SR
CHg .




